Relate Q25 to Q21
Crops

N = 124 surveys for the Crops category of question 21.

N = 114 of those surveys that also answered question 25.

Among those who sold crops in 2006, here are their preferred marketing methods:

Contracts –  43

Brokers –     25

Direct –       36

Retail –         2

Fm. Mkt –    1

CSA –          1

Other --        6

And the frequency (percentage) data = those numbers divided by 114:

Contracts –  38

Brokers –     22

Direct –       32

Retail –         2

Fm. Mkt –    1

CSA –          1

Other --        5

The random chance number on the frequency data = the mean = 100/7 = 14%

The standard deviation = 16%

So for the Crops category, contracts and direct sales were both at least +1 standard deviation more than the mean.  Brokers was within one standard deviation of the mean, so it is not the most preferred method for selling crops.
Now, correlations:

I’m reporting these as correlations between categories in Question 21 and categories in Question 25.  
There are two parts to correlation:  the coefficient, and the probability.  The coefficient tells you whether there is a linear relationship between two variables.  If you plot one on the vertical axis and one on the horizontal axis of a graph, and they have a high positive correlation coefficient, the points will fall on a nearly straight line.  The probability tells you whether this relationship is significant. 
Just so you know the terminology, the correlation coefficient is referred to as “r.”  Then, “r-squared” is a measure of the percentage of variation in one variable that is explained by the other variable.  P is the probability.  P<0.05 is considered significant. P<0.01 is considered highly significant.
contracts21 – contracts25  r = 0.60; P<0.01.  This means that r-squared = 0.36; so 36% of the variation in contracts for question 25 can be explained by the contracts variable for question 21, and this is a highly significant relationship.
brokers21 – brokers25  r = 0.58; P<0.01.  So r-squared = 0.33, and 33% of the variation in brokers for question 25 can be explained by the brokers variable for question 21, and this is highly significant.

direct21 – direct 25  r = 0.45; P <0.01.  R-squared = 0.20, so 20% of the variation in direct for question 25 can be explained by the direct variable for question 21, and this is highly significant.
retail21 – retail25  r = -1%; practically zero and not significant.
farm-mkt21 --  farmmkt25 r = -1%; practically zero and not significant.
CSA21 – CSA25 = couldn’t calculate (insufficient data)

Other21 – other 25 r = 0.04; practically zero and not significant.
There is a significant positive relationship between farmers’ current sales methods for crops and the methods they would choose as their preferred method.

I ran some correlations between sales method choices and farm income (question 10) and percent of farm income from organic (question 11), but there were no significant correlations between the income data and the sales methods.

